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PAPER -1

Note : This paper consists of Fifty (50) objective type questions of Two (2) marks each. All

questions are compulsory.
50 Q x 2 M = 100 Marks

1. Two numbers are in the ratio 2 : 5. If 16 is added to both the numbers, their ratio becomes
1:2. The numbers are :
(1) 28,70 (2) 32,80 (3) 16, 40 (4) 20,50

2.  Introducing Rakesh to her husband a women said, “His brothet’s father is the only son of my
grandfather”. The woman is related to Rakesh as :
(1) Sister (2) Daughter (3) Aunt (4) Mother

3.  Which one among the following is a presupposition in inductive reasoning ?
(1) Harmony in nature (2)  Uniformity of nature
(3) Law of identity (4) Unchangeability in nature

4.  Assertion (A) : The initial messages to students in the classroom by a teacher need not be

critical to establish interactions later.

Reason (R) :  More control over the communication process means more control over
what the students are learning.

Code :

(1) (A) is true, but (R) is false.

(2) (A) is false, but (R) is true.

(3) Both (A) and (R) are true, and (R) is the correct explanation of (A).
(4) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

5. Differentiation between acceptance and non-acceptance of certain stimuli in classroom
communication is the basis of :

(1) selective attention

(2) selective morality
(3) selective expectation of performance
(4) selective affiliation to peer groups

6.  The next term in the series

-1, 5,15, 29, 2 ..

is:

63 (3) 36 (4) 47

(1) 59 2)
s TR —
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e U UE-UF H Ue (50) 8- fashedd U9 €1 U U % S (2) 3k €1 |ty e €

1.

50 U9 x 2 3 = 100 3ich
T Gl 1 ST 2: 5 | A I TS H 16 Sl ST 1 ST STUM 1: 27 Sl § | 3 G
g:
(1) 28, 70 (2) 32, 80 (3) 16, 40 (4) 20, 50

e Afgen 3 79 ufd & TR 1 IR=rT S g e, ' 59 1S o fodn B S & shelid g E 1 I8
TfEeAT T3 hi 1 Tl & 2

1) == 2 T (3) (4) w«@
frefafed 8 § SiAE ST 7 H ga-hiedd § 7

(1) wepld & wrHse (2) Ul A FHET

(3) wewfR 1 e (4) YHld H sTaReEdAraa
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(A) T (R) <1 T&t €, Af (R), (A) T TE =amen & 21

HEINTA T H 5 SEYeh! hi T 3R sl & sita fadeT fhas smem 2
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(1) <FIAHS AF

(2) FIAEE AfehdT

(3) THoaIeH =i =TS STUan

(4) Gt R Sk WY FIAHS GGl

el

-1,51529, 2

i ST G& T

1) 59 2) 63 3) 36 4) 47
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10.

11.

Which one of the following statements is not correct in the context of Venn diagram method ?

(1) Itrequires two overlapping circles for the two premises of a standard-form categorical
syllogism.

(2) It can be used to represent classes as well as propositions.
(3) Itis a method of testing the validity of arguments.

(4) It represents both the premises of a syllogism in one diagram.

Superiority of intellect depends upon its power of concentration on one theme in the same
way as a concave mirror collects all the rays that strike upon it into one point.

What type of reasoning is entailed in the above statement ?

(1) Analogical (2) Deductive (3) Mathematical (4) Psychological

If VARANASI is coded as WCUESGZQ, then the code of KOLKATA will be :
(1) ZELHOQO (2) LQOOFZH (3) LOQOZEH (4) HLZEOOQ

The next term in the series

ABD, DGK, HMS, MTB, SBL, 2 ..

is:

(1) ZKW 2) KzU (3) ZKU (4) ZCA

Which of the following set of statements is correct for describing the human communication
process ?

a) Non-verbal communication can stimulate ideas.

b) Communication is a learnt ability.

d) Communication cannot break-down.

(

(

(c) Communication is not a universal panacea.

(

() More communication means more effective learning by students.
(

f)  Value of what is learnt through classroom communication is not an issue for students.

Code
(1) (@), (b), (c) and (d) (2) (@), (d), (e) and (f)

() (@), () (¢) and (f) 4)  (b), (d), () and (f)

st 11111 T



7. Tr=fafad § 9 s wue oF fo fafy & ded o wed =@t ¢ 2

(1) &8 FRU& =" 91 o 7S Y & o SATYR SRl o foT8 T0R ST S 9l ohi STTerearshdl
=l € |

(2) SR T ok STCATAT YR AT hl YSHId L o foTq STAN fohan ST wahat 2 |
(3) TE Tehi I AT T T HT Uk Aty T
(4) % U fod H =g ot o ST SR SRl Rl IR e ¢

8. U Ieaa fondl Weh fIwa o oI H SHh! TShIUaT Sfed 9 3ET YohR F4R et § 79 YR hidehal
TAU 3G T Y arelt Tt fHon i Tk fog R Fufed sar 7|

ST HUF | fhT ThR &1 deh Afed & 2
(1) dgwERTH 2) frmETes (3) oK (4) AEIS

9. af€ VARANASI & %2 WCUESGZQ ¥, @ KOLKATA %1 %< BTl
(1) ZELHOQO  (2) LQOOFZH 3) LOQOZEH  (4) HLZEOOQ

10. Qe
ABD, DGK, HMS, MTB, SBL, 2,
I WA G ©
1) ZKW (2) KZU (3) ZKU (4) ZCA

11.  AHa Fey sk & faero & fad frafafed § @ e wum aq=ea @@ €2
(a) TeNfeger FEIU fa=Rl ol g o Hhdl ¢ |
(b)  TEYU TH A &Il T |
() TEIYY Ueh e FHIEE T ¥ |
() TE wied & & o |
(
(

e) e TEWOT w1 1 B g SiferR grelt sifE R
f)  HENT GEHUY F AT F WG G F G DE 6 (A0 Aewqul T 2|

(1) (), (b), (0) 3R (d) 2 (), (d) (o) R ()
(3) (), (0), (o) 3R (f) 4) () (@) (e) FR (D)
sl | TV —




12.

13.

14.

15.

If the proposition “domestic animals are hardly ferocious’ is taken to be false, which of the
following proposition/propositions can be claimed to be certainly true ? Select the correct
code :

Propositions :

(a) All domestic animals are ferocious.

(b) Most of the domestic animals are ferocious.

(c) No domestic animal is ferocious.

(d) Some domestic animals are non-ferocious.

Code :

(1) ©@and(d) (2 (b)only () @and()  (4) (a)only

Assertion (A) : Classroom communication is a transactional process.

Reason (R) : A teacher does not operate under the assumption that students’ responses
are purposive.

Select the correct code for your answer :

(1) (A) is true, but (R) is false.

(2) (A) is false, but (R) is true.

(3) Both (A) and (R) are true, and (R) is the correct explanation of (A).
(4) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

Given below are two premises (A and B). Four conclusions are drawn from them. Select the
code that states validly drawn conclusion(s) (taking the premises individually or jointly).

Premises :

(A) Most of the dancers are physically fit.

(B) Most of the singers are dancers.

Conclusions :

(a) Most of the singers are physically fit.

(b) Most of the dancers are singers.

(c)  Most of the physically fit persons are dancers.

(d) Most of the physically fit persons are singers.

Code :

1) ©@and(d) (2 @and@ () @and®) @) (5 and ()

Assertion (A) : To communicate well in the classroom is a natural ability.

Reason (R) : Effective teaching in the classroom demands knowledge of the
communication process.

Code :

(1) (A) is true, but (R) is false.

(2) (A) is false, but (R) is true.

(3) Both (A) and (R) are true, and (R) is the correct explanation of (A).
(4) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

sows [[1INANMCANINONNT



12.

13.

14.

15.

‘ITeTq 9Y) FE GER B 7, 9 39 gfiafa w1 orae 7 fen s R, @ fefatea 8§ § fe sner
I/ SR 1Rl o1 Ffved §9 | §cd A 1 S foRal ST 9kl © 2 W& e 1 =97 ST
MR T

(a) Tt e IY WER B ¥

(b)  3freRTST UTeTq I GER B T

(c) i ot Urerq Uy YER T B ¥ |

(d) T Uelq IY YO T 2 ¢ |

ETE

(1) (c) IR (d) (2) = (b) (3) (a) 3R (b) (4) e (a)

AR (A) : NI THEU T panf-afaert ufsman 71

T (R) : 1g o 1eTeh 59 A=A o SaFia s T LAl o BT hi STIfRATT |ieed Bt
gl

mw%m@%ﬁm:

1) (A) &I €, Afehd (R) T 2 |

2) (A) e B, WfRA (R) W&

3) (A)TH (R) THI TE &, 31 (R), (A) FF T ARAT T |

(4) (A) TH (R) S TE €, ARFA (R), (A) T & =0 & T

e < TR 9T (A 3R B) few MU ¥ 1 e =R fsh fehrel U ¥ | S8 e o =EA TS, Sy
w9 ¥ ffig frepd o1 <oiidn § (TuR SRl sl SAfFTd 2R Sge €9 9 o) |

AT AT :

(A)  Afehier T W €9 § five ¥

(B)  Aferhist Tk Wcleh ¥ |

e

a) Afuehie e NI 9 9 e €

b) SR Tk MHF T |

o) sty i ®9 @ fire st T ¥

d) eIy wiRes &9 9 fife =afs ok €1

(1) (o) &R (d) (2) (d) ¥R (a) (3) (a) R (b) 4)  (b) 3 (0)

ARTRT (A) 1 el H FIA ST Y TEEU FLAT Tk Tfaeh &0l |

e (R) : Hefl § goTET e o fore, SR Ui o1 9 ST T
HE
(1)
(2)
(3)
(4)

(A) T& T, AfeFT (R) TeTd T

(A) T T, AR (R) T 1

(A) T (R) S T& €, iR (R), (A) T TE === 2|

(A) T (R) <1 T&t €, Afeh (R), (A) T TE =Amen & 21

st (1111 111



The table below embodies data on the production, exports and per capita consumption of rice
in country P for the five years from 2012 to 2016. Answer questions 16 - 20 based on the data
contained in the table.

Year-wise Production, Exports and Per Capita Consumption of Rice

Year Production Exports Per Capita Consumption
(in million kg) (in million kg) (in kg)

2012 186.5 114 36.25

2013 202 114 35.2

2014 238 130 38.7

2015 221 116 40.5

2016 215 88 42

Where, Per Capita Consumption= (Consumption in million kg)+ (Population in million)
and consumption (in million kg) = Production — Exports.

16.

17.

18.

19.

20.

21.

In which year, the population of country was the highest ?
(1) 2015 (2) 2016 (3) 2013 (4) 2014

The ratio of exports to consumption in the given period was the highest in the year :
(1) 2014 (2) 2015 (3) 2012 (4) 2013

What is the population of the country in the year 2014 (in million) ?
(1) 2.79 (2) 2.85 (3) 2.64 4) 2.72

The percentage increase in the consumption of rice over the previous year was the highest in
which year ?
(1) 2015 (2) 2016 (3) 2013 (4) 2014

What is the average consumption of rice (in million kg) over the years 2012-2016 ?
(1) 108 (2) 100.1 (3) 104 (4) 1021

Assertion (A) : Indoor air pollution is a serious health hazard.

Reason (R) : The dispersal of air pollutants is rather limited in indoor environment.
Choose the correct answer from the code given below :

(1) (A) is true and (R) is false.

(2) Both (A) and (R) are false.

(3) Both (A) and (R) are true and (R) is the correct explanation of (A).

(4) Both (A) and (R) are true but (R) is not the correct explanation of (A).

st (11111 1T



freitera atferert o fordt 29T P o foIw wiwr aeif 2012 | 2016 ek =G & S, Haia iR wfq
wferd SUUIT & X | MRS URIifehd &1 30 dlfeteht U faU T StTehel o ST UT Y9 WEAT 16 - 20

o ST T |
Tae 1 FY-aR Icqred, Frata IR i safad susdm
- EIicE| fraa gfq AT STHRT

(Taferem ferciom ) | (Taferem foremm #) (feretm #)

2012 186.5 114 36.25

2013 202 114 35.2

2014 238 130 38.7

2015 221 116 40.5

2016 215 88 42

e, gfa =afed sudim=(Sudm fafeem feeimm #) + (SAgen fafesm
(Tafe=m fremum &) =SaeT— i, © :

16. <3 ! SHEE fmg 99 o Taifien o ?
(1) 2015 (2) 2016 3) 2013 (4)

17. Twa ad =t srafy § fafa iR 39l 1 17U waifes o ?
(1) 2014 (2) 2015 (3) 2012 (4)

18. 99 2014 § 29 &I S@en (fafeaa #) forat ot ?
1) 2.79 2) 2.85 (3) 2.64 @)

19. frg v # faee v 1 gorm § =Ea & € H Haitys gfawrd o 9 g8 ?
(1) 2015 (2) 2016 (3) 2013 (4)

20. 99 2012-2016 &t 37afY H =ad 1 9d 3q4m (Tafeem fram) fram 22
(1) 108 (2) 100.1 (3) 104 (4)

21. SNfUeRer (A): 3d: 91 YUV WA & faw ueh TR Taw )
e (R) : 31d: TAER0 H 91g YGUR! ol fadsiA STdemeha Hifd g 2|
= fou T Fe H 9 wE S A g
(1) (A) 5& B iR (R) 7T T |
2) (A) 3R (R) S Temd
3) (A) W (R) THi W&l € 3R (R), (A) F F& =AM ¥
(4) (A)TH (R) I 92 &, AR (R), (A) T T A& T B |

soss [[IIINAICONININY
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22.

23.

24.

25.

26.

‘Fly ash” produced in thermal power plants is an ecofriendly resource for use in :

(a) agriculture as micro-nutrient

(b) wasteland development

(c) dam and water holding structures

(d) brick industry

Choose the correct answer from the code given below :

(1) (), (¢) and (d) only () (@), (), (c) and (d)
(3) (a), (b) and (d) only (4) (b), (c) and (d) only

With regard to computer memory, which of the following statement(s) is/are TRUE ?
P: Read Only Memory (ROM) is “volatile’ memory.

Q: Random Access Memory (RAM) is ‘volatile” memory.

R: Secondary Memory is ‘volatile” memory.

(1) PandQonly (2) PandRonly (3) Ponly (4) Qonly

Leader of the Opposition is a member of committees which select :
(a) the Central Information Commissioner

(b) the Central Vigilance Commissioner

(c) the Chairperson of National Human Rights Commission

(d) the Chairperson of National Commission for Women

Select the correct answer from the code given below :

(1) (a), (c) and (d) only (2) (a), (b) and (d) only
(3) (@), (b) (c) and (d) (4)  (a) (b) and (c) only

Which of the following types of natural disasters has no definite beginning and end ?
(1) Hurricanes (2) Droughts (3) Earthquakes (4) Landslides

Which of the following is considered as major source of pollution in rivers of India ?
(1) Agricultural run-off (2) Thermal power plants
(8)  Unregulated small scale industry (4) Untreated sewage

st 111111 1111 T



22. a9 faga = H Scunfed ‘vt U9’ U qataRur-fedot Sanem €, foroent fhas 3w foman i § 2
(a) &9 Uk % &Y H K H
(b) SR Y & fopm |
() oY IR ST RO FaeT |

(d) Zesamd

= feu T e # 9 w@ s g

(1) o (a), (c) 3R (d) 2 (@), (b), () R (d)
(3) e (a), (b) 3 (d) (4) I (b), (c) 3R ()

23. HER HAN F IR H fAffEd § § s/ S o 9@ g/E ?
P: e Felt BERT (ROM) ‘Sfciera’ HuRt 71
Q: Y=Y THE FERI (RAM) ‘diclega’ HERI Tl
R: Ul BRI ‘Sicerd’ 76k 1
(1) FEAPIARQ (2) Had P3IRR (3) koA P (4) HIA Q

24. forder &1 a1 3 WiARE w1 TF Iew AT R, ST w4 Q
(a) h=Id FEAT SAH

(b) HT Fdchdl I HI
(c) TS A AYRR TR o TLI&
(d) U Al SR % ALY H

=1 U 7T e ¥ @ WE I F AT
(1) e (a), (c) 3 (d) (2) % (a), (b) 3R (d)
3) (@), (b), () ¥R (d) (4) % (a), (b) 3 ()

25. Witk faueedi & frefafea il § 9 forgen ffvea arey oiR ofd =& S § 2
(1) 9osH (FhRT)  (2) 9@ (3) gH™ (4) e

26. YRd @i Afedl # frefafed § 9 fagen! yguor &1 7@ €id 71 S © 2

(1) Ffusmw (2) g ferm wos
(3) Ifafafia oy i s (4) STNfYq aTfeawd

soooss [[INICANINIT =



27.

28.

29.

30.

31.

Given the following email fields, which of the email addresses will ‘swami” be able to see
when he receives the message ?

To... ram@test.com
Cc... raj@test.com; ravi@test.com
Becc... | swami@test.com; rama@test.com

(1) ram@test.com; rama@test.com

(2) ram@test.com; rama@test.com; raj@test.com; ravi@test.com
(3) ram@test.com

(4) ram@test.com; raj@test.com; ravi@test.com

Which of the following statements, regarding the term ICT is/are TRUE ?
P: ICT is an acronym that stands for Indian Classical Technology.

Q: Converging technologies that exemplify ICT include the merging of audio-visual,
telephone and computer networks through a common cabling system.

(1) Pand Q (2) Neither P nor Q (3) Ponly (4) Qonly

Put the following units of storage into the correct order, starting with the smallest unit first
and going down to the largest unit :

(a) Kilobyte (b) Byte (c) Megabyte
(d) Terabyte (e) Gigabyte (f) Bit

Give your answer from the following code :

1) @ (k) @) () () (d) 2 (@ (b) @), (d) () (e
®)  ®, ®) @) (9 (@) (e @) ®, ®) @) () (), ()

Which of the following are the barriers to citizen-centric administration in India ?
(a) Wooden and inflexible attitude of the civil servants

(b) Ineffective implementation of laws and rules

(c) Awareness of rights and duties of citizens

(d) Lack of job opportunities for the youth

Select the correct answer from the code given below :

(1) (a), (b) and (d) only (2) (a) and (b) only

(3) (@), (b), (@) and (d) (4) (@), (b) and (c) only

In terms of their contribution to the total power generation in India, identify the correct
sequence of energy sources - Thermal Power Plants (TPP), Large Hydropower Projects (LHP),
Nuclear Energy (NE) and Renewable Energy (RE) which includes solar energy, wind energy,
biomass and small hydropower projects.

(1) LHP>TPP>RE>NE (2) LHP>TPP>NE>RE

(3) TPP>RE>LHP>NE (4) TPP>LHP>RE>NE
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27. TrAfafEd S9a wieew § @ '@’ 1 939 fie W 9% %M ¥ S8 T4l 1 S Rt 2

To... |{W@IEHM
Ce... | W@z HW; (a@I=.FH
Bee... | @M@ &; THI@ITE. ST

(1) THQIE. A, THIQTE. A

(2) THQTE.SHA; THIQTE. HH; THQIE. HiH; (@I A
(3) TH@TE.HH

(4) THQIR.HIA; TN@TE. M, fd@.ShiA

28. RGN, vt Ug & 9N H fFAfafEd § @ srd/Hrd wUT WE §/% 2
P: T3 Yermerd AW T, e qu W e Faiiea SHatst € |
Q: SME.HI % imia o ufkomdt yraferert wfinfera ¥ fome sfarfa goa-goa, Qo iR Frgex
(HTUR) edeh Teh §1el HHM shalfail Julelt R Haifsd fert d 2 |
(1) P3RQ (2) JIAPIARTEQ (3) %ad P (4) FIA Q

29. HeRru i f=fafed seral @ 93 wE § Ey, o6 15d THaq s 9 IRFY I g arHaH
TohTS Shi A Fed ST

(a) fepeiramse (b) @M (c) e
(d) qemEe (e) TrmeTEE (f) foe
Fefafad $e 9 o101 S| ST

(1) (), (b), (@), (c), (e), (d) 2) (), (b), (@), (d), (), (e)
(3) (), (b), (@), (c), (d), () 4) (), (b), (@), (d), (e), (c)

30. YR H AMTeh-<hfed gomeH # fefafead § 9 gt snumd 8 2
(a) THRI ARl wi & iR o sifvgfa
(b) I IR el 1 STTE e
(c) TRl o STfYehRl IR Faedl o SN § STHTERAl
(d) gonsii o faQ Rt & STl 1 ANE
1< fou T e § § W W 0 AT :
(1) %o (a), (b) 3R (d) (2) e (a) 3R (b)
(3) (@), (b), (o) 3R (d) (4) 9 (a), (b) 3R (o)

31. YR H Fal fad 3G § ek IRTQH o IS | ol &iidl o Hal shH ohl Tg= shife : arq faegd
G931 (TPP), foemet s/t faga afesmmd (LHP), RET9] it (NE) 3R Taiehuia it (RE), fsrad 9r)
Stt, aTg St St W 3R oty Wi foga ufkesd aftmferd €1

(1) LHP > TPP > RE > NE (2) LHP>TPP > NE > RE
(3) TPP>RE >LHP > NE (4) TPP>LHP > RE > NE
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32.

33.

34.

35.

36.

India has the largest Higher Education System in the World after :
(a) The United States of America (b) Australia

(c) China (d) United Kingdom (U.K\)
Select the correct answer from the code given below :

(1) (a), (c) and (d) only (2) (a) and (c) only

(3) (@) (b), () and (d) (4) (@), (b) and (c) only

Prime Minister Research Fellowship is for students pursuing Ph.D programme in :
(1) IISc, IITs, NITs, IISERs, IIITs, State and Central Universities

(2) ITs and IISc

(3) State and Central Universities

(4) Central Universities, IISc, IITs, NITs, IISERs and IIITs

A new Laptop has been produced that weighs less, is smaller and uses less power than
previous Laptop models.

Which of the following technologies has been used to accomplish this ?
(1) Blu Ray Drive (2) Solid State Hard Drive

(3)  Universal Serial Bus Mouse (4) Faster Random Access Memory

Which of the following statements are correct about gender budgeting ?
(a) Itis a separate budget addressing the specific needs of women.

(b) It assesses the impact of government budget on women.

(c) Itis an accounting exercise.

(d) It is another budgeting innovation.

Select the correct answer from the code given below :

(1) (a), (c) and (d) only (2) (b), (c) and (d) only

(3) (b) and (d) only (4) (a) and (d) only

Which of the following sequences of research steps is nearer to scientific method ?

(1) Defining a problem, Identifying the causes of the problem, Defining a population,
Drawing a sample, Collecting data and Analysing results.

(2) Identifying the causal factors, Defining the problem, Developing a hypothesis, Selecting
a sample, Collecting data and arriving at generalizations and Conclusions.

(38) Suggested solution of the problem, Deducing the consequences of the solution, Perceiving
the problem situation, Location of the difficulty and testing the solutions.

(4) Perceiving the problem situation, Locating the actual problem and its definition,
Hypothesizing, Deducing the consequences of the suggested solution and Testing the
hypothesis in action.
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32.

33.

34.

35.

36.

foea o a1 foremeras 3= fvan yomett fofa <1t 6 1% S © 2
(a) EYH T SFAHH (b)  sTeferan

() == (d) ?ﬁs%‘s' fhren (Z..)
1< U 7T e ¥ 9 WE I F AT

(1) e (a), () 3R (d) (2) e (a) 3N (o)

(3) (@), (b), () ¥R (d) (4) ad (a), (b) 3 ()

Y T3 MY Heier frefataa § 9 fead 90wl wEsH w1 9 361 & fod €2

(1) STE.TE.TH.Hl., 3TE.TE.31., TA.SME.3L., 1. oML .31, oT%.31E. 378,31, T IR H=
IELEIEEISE]

(2) STE.E.A. AR L. . vH. .

3) T IR Fxr favafoamea

(4) FH=ra favafaarea, omE.omE wad., o o A, w.eE 2, ot ot g . &K
TS, 3718, 3718, 2.

T AT ATl 1 i form e €, fSee IR 9 § SR sifues @Y § 9o o1 qelendt Ateew
QT H A fostelt Sl ITART B © |

59! o B frefafed § 9 fra dreifet o1 s fea = g2

(1) =X 3EE () wifes we e grd

(@) Ifada HifFa s| qed (4) TR TeH TR HAR]

It SNl o o) H fAfafed § 9 S 97 e 8 ?

(a) T T T I €, forod ufgenesii =t faftre stawasdei R = feon S # )
(b) 3HH AfEeNs W TRHR & dSie & YIS T Jodih {hal Sl 7 |

() IE T wErary & ¥

(d) % TH R TAT-TEY T |

1= fou T e § § W W 0 AT

(1) &9 (a), () 3R (d) (2) F=A (b), (c) ¥R (d)

(3) A (b) I (d) (4) A (a) I (d)

vy v o fefafed § § SH-9 w0 omtes fafy & feesa 772

(1) F9& 1 IR T, THE o HRUN i &= KT, GHU 1 IRAMYG T, gfaeed
=T, kel T GULY IR IR A1 forgersor & |

(2) HRU-HcTh Hehl hl TEDH KT, FHE hl TR HT, TRebea 1 oM, Ffdest 1 ==,
STIHS T UG IR A=A qer Fshel W ag=m |

(3) HHEA K1 YETTad HHIYM, FHIM o YROTH] shi fF1fid 6, S o1 fefd sl stafd e,
ST 1 TEaH TR HHILM T q& |

(4) TwEN & fefq 1 STA w1, arEdfaesh TN i UgE TR SHeh! uRRurd, IfRehean S,
I FHIEM o IR Sl A S AR 9Rehea 1 & o §9 § W/ |
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37.

38.

39.

40.

41.

Which of the following learner characteristics is highly related to effectiveness of teaching ?
(1) Peer groups of the learner

(2) Family size from which the learner comes.
(3)  Prior experience of the learner
(4) Educational status of the parents of the learner

In which of the following activities, potential for nurturing creative and critical thinking is
relatively greater ?

(1) Participation in research conference  (2) Participation in a workshop
(8) Preparing research summary (4) Presenting a seminar paper

Which of the sets of activities best indicate the cyclic nature of action research strategy ?
(1) Act, Plan, Observe, Reflect
(2) Plan, Act, Observe, Reflect
(3)  Reflect, Observe, Plan, Act
(4) Observe, Act, Reflect, Plan

Which of the following set of statements best describes the nature and objectives of teaching ?
Indicate your answer by selecting from the code.

(a) Teaching and learning are integrally related.

(b)  There is no difference between teaching and training.

() Concern of all teaching is to ensure some kind of transformation in students.
(d) All good teaching is formal in nature.

(e) A teacher is a senior person.

(f)  Teaching is a social act whereas learning is a personal act.

Code :

1) @, (©and () (2) (d) ()and(f) () () (b)and(d) (4) (b) (c)and (e)

From the list of evaluation procedures given below identify those which will be called “formative
evaluation’. Indicate your answer by choosing from the code :

(a) A teacher awards grades to students after having transacted the course work.

(b) During interaction with students in the classroom, the teacher provides corrective
feedback.

(c)  The teacher gives marks to students on a unit test.
(d) The teacher clarifies the doubts of students in the class itself.

() The overall performance of a students is reported to parents at every three months
interval.

(f)  The learner’s motivation is raised by the teacher through a question-answer session.
Code :
(1) (@ (and(e) (2) (b) (dand () () (), (b)and(c) (4) (b) (c)and (d)
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37. Afermdt ot frefafed § & St fasro feon w5t gumEcaesa § o= 9 § Fafud €2
(1) sAfermaehal & weft T8
(2) URER 1 MR, Feeht sifermaendl T o §
(3) AferTHRAl 1 Ya-STIY
(4) el % AfuuTast 1 Sferh TR

38. frAfafea § 9 for frameemy § gemefiar oI aeitercress foaa & G st 31k e § 2
(1) iy THe § Aqrie (2) e # Wrie
(3) MY TR I TIR HLAT (4) TS H MY TG I TR HAT

39. Toramramdl & frefafed Ty § S gy== fharmes sy WA ot Fehid Thid ol SATd w
€2

(1) Torenfrafa, faSH, a0 ST, TR feiad L

(2) TrEm, forenfafa, Geror s, e o s
(3) e faad KT, Garor s, s, fohanatd
4) Y& &, fRafafa, wea fead &, e

40. frafafea § § S wo ag= e i yefa IR ke &1 399 €1 § T ygd i © 2

= feT T Fe H ¥ T W H AT
(a) Toreror iR erfermm sifafese w9 @ Heiftm €1
b) foreror oiR wftraror & o= i o 7 7

)
c) THE e 1 THR BHEl H F YR F G HI GHAET FE F a1 7
d) wHE oT=s1 feqor yepfd § Sfq=nie 2 T |

e) Toerw w aftss =afaq S B

f) e uw wmfse o €, SEfh M T T A 7

< :

1) @ ©@M@H @ @ EWEH @) @ B)IE @ ©®) M)

(
(
(
(
(

41. = 3 TE AR gihArstl | ¥ 39! TeaM witee, et ATt Hedied’ el Sl § | A
QU 7T Fe i1 YA A G 3T IW ! AT :
(a) TRrereh UrSUshT 1 & QU HA F A B IS @ T

b) Torerw e H BE % WY ofa: e % <RE gumere wfagfie yem W ¥

fRreen SeRte TRI&TOT H BT ol 3 <l

forereh e H & B % He! I T FA |

I % THY oI % 9N H Y fiH TIE o SFaue W aterht whi far feran s

fS1eTeh T9-STR T % HIeEH § AfnmHekat 6t 1fgon # gfg wan ¥

C
d
e

f

—_ o~ o~ o~ o~ o~

e

~ ~ ~ O~ =
.o

@, © e (@ ®), IO @) @ OFME @ ©O)«© MR
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42,

43.

44.

In the two sets given below Set - I indicates methods of teaching while Set - II provides the
basic requirements for success/effectiveness. Match the two sets and indicate your answer
by choosing from the code :

Set -1 Set - II

(Method of teaching) (Basic requirements for success/effectiveness)
(a) Lecturing (i)  Small step presentation with feedback provided
(b) Discussion in groups (i) Production of large number of ideas
(c) Brainstorming (iii) Content delivery in a lucid language
(d) Programmed Instructional (iv) Use of teaching-aids

procedure

(v) Theme based interaction among participants

Code :

@ () (o (d)
1 G (v) @ @
2 (v @ @ (i)
G) @O @@ @) @)
4) (@) @) @) (v)

The problem of ‘research ethics” is concerned with which aspect of research activities ?
(1) Defining the population of research

(2) Evidence based research reporting

(3) Following the prescribed format of a thesis
(4)

4) Data analysis through qualitative or quantitative techniques

Assertion (A) : All teaching should aim at ensuring learning.
Reason (R) : All learning results from teaching.

Choose the correct answer from the following code :

(1) (A) is true, but (R) is false.

(2) (A) is false, but (R) is true.

(3) Both (A) and (R) are true, and (R) is the correct explanation of (A).
4)

4) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
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42, = feu o < wyeE § wued - 1H fe fafiat S 0 € Sefs e - 11 H g/

43.

44.

AT S ot STHEE & T € | 39 1 9g=ai i Gferd sifee iR e feu e §e o § o1
Wﬁlﬁﬂﬁﬁz

o - 1 o - 11

( TorgroT fafer ) ( AT/ FTEIATEehT St el SEvAehad )
(a) ARAM () wfagfee wfed o o<t & geqfa
(b) ERl == (i) oS gE | fo=mi &l g=ga e
(c) Toramuersr gfsham (iti) T AN H foerEq 1 HETO
(d) AfYsRiHd STgeeA ki dgid (iv) TI&ro-3ueshen k1 ST

(v) Wi § geRtor-enenia wrfert

e

@@ (b) (9 (d)
1) @) (v) @) (@)
2) @v) () @ (i)
G) @ @) @) ()
4) (@) (@) @) (V)

‘oY AfqeRar’ 1 TEeE vy fRarRaTd % R Uge § Hefyd 72
(1) 39 % 999 1 qRuIfad e 9§

(2) EeF-IERa Wy RAfén |

(3) MY Y&y o FUIRa YT & STIE |

(4)

4)  TUTCHS AT HIEATHS qehr1ehl < HTEH | 3Tidhel & faveio 9

USRI (A) :  THE T&T01 1 ITA SIUH Sl AT HEAT SHT AT
T (R) : g AferT freror w1 gRomd 2§

A fow T e F A W IR A 9P

1) (A) 9@ %, afh (R) To0d T

(2) (A) T €, Wi (R) Wl B

3) (A)TE (R) I T €, X (R), (A) FT TE @A R

(4)

4) (A)TE (R) SF TE §, AT (R), (A) T T == T R
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45. There are two sets given below. Set - I specifies the types of research, while Set - I indicates
their characteristics. Match the two and give your answer by selecting the appropriate code.

Set -1 Set - 11
(Research types) (Characteristics)
(a) Fundamental research (i) Finding out the extent of perceived impact of an
intervention
(b) Applied research (i) Developing an effective explanation through theory
building
(c) Action research (iii) Improving an existing situation through use of
interventions
(d) Evaluative research (iv) Exploring the possibility of a theory for use in various
situations
(v)  Enriching technological resources
Code :
@ ®) © (@
O 6 @ G @)
@ @ @) @) v
@) @ @) @ 0
@) © @) @ @

Read the following passage carefully and answer questions from 46 to 50 :

If India has to develop her internal strengths, the nation has to focus on the technological
imperatives, keeping in mind three dynamic dimensions : the people, the overall economy and the
strategic interests. These technological imperatives also take into account a ‘“fourth” dimension,
time, an offshoot of modern day dynamism in business, trade, and technology that leads to
continually shifting targets. We believe that technological strengths are especially crucial in dealing
with this fourth dimension underlying continuous change in the aspirations of the people, the
economy in the global context, and the strategic interests. The progress of technology lies at the
heart of human history. Technological strengths are the key to creating more productive employment
in an increasingly competitive market place and to continually upgrade human skills. Without a
pervasive use of technologies, we cannot achieve overall development of our people in the years to
come. The direct linkages of technology to the nation’s strategic strengths are becoming more and
more clear, especially since 1990s. India’s own strength in a number of core areas still puts it in a
position of reasonable strength in geo-political context. Any nation aspiring to become a developed
one needs to have strengths in various strategic technologies and also the ability to continually
upgrade them through its own creative strengths. For people-oriented actions as well, whether for
the creation of large scale productive employment or for ensuring nutritional and health security
for people, or for better living conditions, technology is the only vital input. The absence of greater
technological impetus could lead to lower productivity and wastage of precious natural resources.
Activities with low productivity or low value addition, in the final analysis hurt the poorest most.
The technological imperatives to lift our people to a new life, and to a life they are entitled to is
important. India, aspiring to become a major economic power in terms of trade and increase in
GDP, cannot succeed on the strength of turnkey projects designed and built abroad or only through
large-scale imports of plant machinery, equipment and know how. Even while being alive to the
short-term realities, medium and long-term strategies to develop core technological strengths within
our industry are vital for envisioning a developed India.
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45. < 9= feu U ¥ | weeE - IH 9 % YR feu T € Sefe aeed - 11 H S faeand
SR &1 T § 1 9 Q1 bl GHfAd SiteT AR ST e 1 9 L STqT I ol M

= - 1 | - 11
(o7 & W) ( forgtamd)
(a) Hifcieh oMY (i) T H STIA TS I TqT T
(b) HeRd MY (i) Tagia fefo % wem § yaEcaes e & faem™ s
CERERISEIRIC] (il) TEHHT % SYANT < AEAH 9§ Yaforad Feafd § gur @
(d) FARI-TE WY (iv) fafvm feafdl 9 S5 & fau fagia =t gacad & @rssy

AT
(v) Tifafys SETEEl ol 995 e
< :
@@ (b) (9 (d)
L @ @) () (i)
(2) () (i) (@v) (V)
(3) () (v) (i) ()
4 (v) (v) (i) (i)

FrAfafea Ty & e ¥ U ST WY WEAT 46 | 50 Tk o 3TN ST ¢

Ifg IRA 1 STUT STk AT fohfad wET €, o ST o Tfaeiiel STEm -~ S, g
srefereeen SR WM fedi 1 = H W gu URiiehld STavaehiuiiadiesli W &M Hhid & el 3
TrNfTeRTa STTTaehuiiaand T =i ST, 99, W o &9 Tt § S oFed, SR Us Yeifien &t
sTYfes Tiaeiiara ¥ f7:94 T, TR S RS S5 @edi i 31X STRR &l § | 3911 I8 A § fof 39 =
3 & Hed H ST ki efremiened # R &1 W uftad, afvees desl # refeeren qen wmites A 9
fea % uftea & drenfirea vfaaat o 9 9 Teeyul €| ud sfaer % go § greifie faema wmmn
¥ IR THH SUAM aedt gfawayt o 9k H Wit wfadar sifus Seaes ISR S e qen
TTa-ShITTel oh! STEAA ST T i gfte § Teequl § | Jreifiiehal & sardeh STuarT & o g1 o1 amel

O H ST T o AT faeRr TR R Hehd | Q¥ o WHe Wikl o T ede Herand faey 9
Y 1990 % TWH & 918 ¥ Afueriiyer o B S W T hE qA A | WH IR A1 VR IEh
f-YsrIfaen dey § Fefifaa vifed st feafa o Todt 81 T faenfad <@ o7 o stepialt forslt ot <o & g
fafve wmfter drenfifeal § wfe-ava= 21 IR @ &1 g il & Weam | 3% FRa ofereH
FA @ i gmed off TeavEsd g1 S-S sl & ol o TR foeie T W Saeeie s 6
g BT AT ST ht T T e Heielt gReq hAfved wE @ A1 f Sfee AT i s feafaat & -
T gftedl @ drenfirert T Hecyel STd ¥ 1 HrenfieRt R sTansd i e i erufefa 9 fre wla
STTGeRAl 3T eI UThfdeh HHTEAl st aaial ol °1 IR & Gehdl 71 1 S’ ScaeeRar a1 =
T Joa-HadT ¥ TS foramshard siaa: o1 Te il i Herd SIf¥eh i Ugard § | SARE ST 1 Uk
U e qe T 3R 9% Siad YeH w1, 9 T 9% TeR €, 39 9N H WRifTa STavaehiviaan
TEcqUl ¥ 1 AR iR Si.EL W, § gfg #i gfe @ w9t snfeder wifaa 2 o emmemiaht wR forw # fesen
it TR SR fafdq ‘ot ufEsmet it wfed a1 Faa o TR, SUR 3R aete IF % 9d W
el &1 B HWehdl | TeqehTicteh e O &4 Sd 8¢ SN 3TN H HeAH Td Sreehlfaeh Wil g/
Wenfirria wifaai st forfaa S faswfaa YRA ot HedHT &1 JeR T & fad Ay 7

saooss [[INANCANIRINT =




46. Envisioning a developed India requires :

(1) Focus on short-term projects

(2) Development of core technological strengths
(3) Aspiration to become a major economic player
(4) Dependence upon projects designed abroad

47. Absence of technology would lead to :

(a) Less pollution (b) Wastage of precious natural resources
(c) Low value addition (d) Hurting the poorest most

Code :

(1) (a), (b) and (d) only (2) (@), (c) and (d) only

(3) (a), (b) and (c) only (4) (b), (c) and (d) only

48. According to the above passage, which of the following are indicative of the fourth
dimension ?

(a) Aspirations of people (b) Modern day dynamism
(c) Economy in the global context  (d) Strategic interests

Code :

(1) (a), (c) and (d) only (2) (a), (b) and (d) only

(3) (a), (b) and (c) only (4) (b), (c) and (d) only

49. More productive employment demands :
(1) Geo-political considerations (2) Large industries

(3) Pervasive use of technology (4) Limiting competitive market place
50. The advantage of technological inputs would result in :
(1) Sidelining environmental issues (2) Lifting our people to a life of dignity

(3)  Unbridled technological growth (4) Importing plant machinery

-00o0-
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46. Toorfad YA 1 Ul Hl HR HH & AU A9 © .
(1) EhIcrsh IRANIST T &M hiwd HE
(2) Hehf=eh Urenfirenra Wi o1 forenrd
(3) UHE ek wfed S i STRIET
4) fosw ¥ TR =it T8 9fEeT W) s

47. Urenfirnt st sufafa 9§ fersent wmt yera grm 2

(a) A TG (b) HHSH Wehfdeh HETEH] i sfelial
() T/ =i qoa-darq (d) 3Td TS SN ol Forl 1Yk T
<< :
(1) 9 (a), (b) 3R (d) (2) I (a), () ¥R (d)
(3) I (a), (b) 3 (o) (4) &= (b), (o) ¥R (d)
48. U TS % ATUR FreAfafed § @ wF =9 s w6 S war g ?
(a) SH-HIETY (b) YR TfRier
(c) dftask aRUed # srefeeeen (d) umMfie fea
<
(1) 9 (a), () ¥R (d) (2) 9 (a), (b) ¥R (d)
(3) T (a), (b) 3R () (4) A (b), () I (d)
49. 31y IEH ISR Ut A & forq stevare © -
(1)  g-USHifdew Fra-foem ) fomer s@m
(3) TENfiTh! 1 SATIH ST (4) wfEayicTesh STSTR 1 TRRT ST T

50. URENATHRE ST o T4 o1 IROTH ST
(1)  TAteRoT Geielt GEf <l o7 AT (2) TER A ! TRETEE Sia qoh qgaE
(3) sifEfE dreifieE dafg (4) HIF ARSI I A

-00o0-
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Space For Rough Work
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